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0 0| E=AAB | AND
0 1 E=AvEB | OR
I 0| E=A@8| XOR

1 1| E=A Complement
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Operation select

S3 S, Ay So Ci Operation Function

0 ] 0 0 0 F=A Transfer A

0 0 0 0 1 F=A+1 Increment A

0 0 0 1 0 F=A+BHB Addition

0 0 0 1 1 F=A+B+1 Add with carry

0 0 1 0 0 F=A+B Subtract with borrow

0 0 1 0 1 F=A+B +1 Subtraction

0 0 1 1 0 F=A4-1 Decrement A

0 0 1 1 1 F=A Transfer A

0 1 0 0 ® F=A/NBE AND

0 1 0 1 X F=A\vB OR

0 1 1 0 X F=A®3HB XOR

0 1 1 1 x F=A Complement A

1 0 b bS bt F=shlA Shift left A into F

1 1 b * * F=shr A Shift right A into F
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